Subject: Arithmetic

Topic: Addition

Class Practice

1. Work out all the problems.

427 376 902 587
+ 521 541 859 396
+ 687 + 787 + 849

3,241 8,397 3,742 6,054
6,895 6.554 7,905 9,723
+ 2,059 + 8916 + 8,469 + 8,319

97 68 3,204 23,264

25 49 8,965 97,972

+ 62 +21 + 5,824 + 16,859

2. Solve these story problems.

a) In the forest there are 54
oak tree, 92 pine trees, 106
dogwood trees, 43 hickory
trees, and 23 poplar trees.
What is the sum of these
trees?

= trees

b) The Sears Tower in Chicago
has 110 stories, and the
Empire States Building has
102 stories. How many
stories does the two
buildings have in all?
= stories




3. Write these numbers correctly.
a) 24 million, 3 thousand, 34 = 24, 003, 034 (example)
b) 291 million, 104 thousand =
c) 987 million, 516 thousand, 6 =
d) 2 million, 3 =
e) 492 million, 872 thousand, 641 =

Review
4. Multiply.
2 3
x3 x8
4 2
x7 X6
3 3
x9 x6
1 i
x4 x5




